00v¢ 9felod
10-1Z0LT

00¥¢ 8|qe} buluiq Y108



12x M6x70 mm

12x M6 @ 20 mm

8x Spor 16/9x12

8x M8x8 mm

8x 55x @ 8 mm

1x Imbus SW 4

1x imbus SW 5



ISOLA Diningtable 2400
ISOLA Diningtable 2200

1. mount SPOR Pin (2x), hole pointing to
the inside of the table

insert SPOR Prop (2x) into the hole of
the table leg

set Table leg over SPOR Pins

insert Hexagon socket screw M6x70 +
Washer (3><§J

tighten set screws in SPOR Prop (2x)

tighten Hexagon socket screws M6

=L S T




